BEAM PROPERTIES

Ag =789in2

Ig = 260,741 in*
S1g = 8,909 in3
Sgg = 10,542 in.3

NOTES:

1. BARS 301 AND 302 COMBINED
TO FORM ONE STIRRUP.

2. B*DENOTES EPOXY-COATED BAR

Y1 = 29.3In.
YR = 24.7 in.
Wt. = 822 Ib/If
1|_8ll
1"8" 3" | | 3"
1-2" / %
2 SPA. @ & 401
2|| — 4|| /T
8" 1" CLR. — £ 5"
N ; = =) }
o f 1"CLR. [[° :
a1 : )
g \ %" 5 STRAND )\ 7 \_ 402
1" CLR. : B
& g : # 6 CONTINUOUS
.| = 1 %" CLR. T
o :
-q_ i &%
9"
302
L] L] L] \
N N AR 1" CLR.
N[ |/ e e e o o o o
/ ..... \ 7 SPA. @
B 2" = 1D
?n ...........
'\ .......... \/ 2" \
2" =1'-8" 1" @ STRAND
3|| __/ 21_2u Y__ 3"

I - BEAM TYPE IV

Figure 63-13D(1)



